TOYOPET SL H—b=—F«>/7J MOBARA WESTCUP Rd6

Point' JH)U b (GEZX)

BfEE] : H29.11.26 (B) J—X:¢#81-1 XK :€0D UR:18C
COMER U5 Z£IlE686eE S1LESTPI E—HK1 E—hk2 J7T7FIlE— b S5tPoint
No. RS1N—B F - LB Pt NEfiI Pt NEfiI Pt =L Pt it | S5TPt| IBfI
g B-MAX@GEN 10 1 10 1 10 1 25 1 olo) 1
34 (B8 &8  |raxms 7 4 9 2 9 2 |18 2 |43 75| 2
50 |\ xR [T TKC 9 2 8 3 7 4 15 3 39 3
55 | g% TILZ hUKC 6 5 7 4 8 3 | 1256 4 33.5 4
44 [Fn =X [SYUTeNG R 8 3 6 5 5 6 7.5 6 26.5 5
21 | &% J-TRIC 5 6 5 6 6 5 10 5 26 6
9 |EE = RT. COMBAT 4 7 4 7 4 7 |62 7 [1826| 7
KIS—FY70 952 SNeH 58 RN R E—h1 E—hk2 JrrFilE—k B5tPoin't
No. RSTN-B F - L B Pt IEfiz Pt IEfiz Pt g1 Pt B | S5TPt| IEf
3 |wg a8 |-« 7 4 7 4 4 25 1 46 1
4 |WE 2F [T 8 3 8 3 3 15 3 39 2
T 487 8% [Fr.¥Uo2 6 5 6 5 5 18751 2 | 36. 75| 3
1 [Em BE PRryU9z 10 1 10 1 10 1 1 — 31 4
8 |3 Bw T« TKC 9 2 9 2 9 2 1 — 28 5
MX/—EP2 752 shages 1 LESTPIL E— k1 E—hk2 JrrFilE—k B5tPoin t
No. | RSAN-83 | F - L 2 Pt IBfi pt | iz | Pt | point | Pt | iem | Pt e
6 XU me |[PYYUART 10 1 10 1 10 1 25 1 55 1
5 |k ¥ YY1 /RT 8 3 9 2 9 2 |18.75] 2 | 44.75 | 2
2 |E B H) JRT 9 2 8 3 8 3 |12.5] 4 37.5 3
1 |y =2  [py~UmT 7 4 6 5 7 4 15 3 35 4
3 |fgm BZ |PYYURT 6 5 7 4 6 5 10 5 29 5
4 i #F |[py<uUmT 5 6 5 6 5 6 7.5 6 22.5 6




TOYOPET SL  AH— bh=—F 1 >/7J MOBARA WESTCUP Rd6

Point )L b (IETV)

FIER : H20.11.26 (B) J—2X:%81-2 XK:80 TiB:18C
HFVNA-TY IS5 SNEHTE HALESTPI E— R E—k2 |DprFile—r|  BEtPoint
No. RS+ /\N—2 F - LB Pt & Pt & Pt I Pt gz | SETPt| I&fi
09 | e FLAX MS 10 1 10 1 1 8 25 1 46 1
8 %’ Te A=A K 8 3 8 | 3 | 10| 1 || 2 [4475] 2
34 |Be'Es FLAX MS 9 2 9 2 9 2 15 3 42 3
10 |EgEe [r7-72+ 6 5 7| 4| 8| 8 |125| 4 | 35| 4
91 X8 #£  |791vouv-yv7| 5 6 6 5 6 5 [ 10 ] 5 21 o
58 &% A B-MAX @GEN 7 4 L 8 7 4 7.5 6 22.5 6
14 X ”j‘i? 4 T 5 6 5 6 6. 25 7 20. 25 T
T &% £z T-TKC 3 8 4 7 4 7 5 8 16 8
YAMAHA SS DTS2 2niesus HALRSTPIL E— K1 E—k2 |ZprFile—K|  BEtPoint
No. | RS7N-83 | F — L 2 Pt igar | et | menz | Pt | point | Pt | el | SE5TPt| e
3 @y g% [rz-»z2n 10 1 10 [ 1 10 [ 1 |18 1 |48.75 ] 1
1 |BH EX |pzazke 9 2 9 2 9 2 |14.06] 2 | 41.06] 2
4 |5 w% |nz-pzb 8 3 8 3 8 3 [11.25] 8 |3.25( 3
5 |y & |rz-m2n T 4 T 4| 17| 4 |9sT| 4 [3037T]| 4




